Ouiz #2 Answer Key

\ (&) «CM:J (oS <5x2—~‘—3> (Jrap~><-g
*sl

F)= \ ' <—S\'VI<3XZ—~\\<T>>- (w + zx—o\>

ZJ s <3§<2—%>

ey £0)= sin () Fan(2X)
£10= s x*) - sec®(3%(3) + +an (39 cos XD (2x)

L) F(X)= sinx +cos*x ‘:—(S\‘V\X\l-\- (mgx)l
| .
F) = 260n% cosX + 2cosx (- swnx)= 2sinxestX — 25X CosX = 0
Qﬁ FOQ)= sin?x + s = | Constant = £'0)= 0 fov free

2. )= 2
\ & CosX \
N —
,@‘[ B (\%Cosx\-cos)(~S\m('(—sm)(> _ CosSX & og"x-\—g\v{LX
K= [V conx)”
- _cosx 4| _ \
L\+ cog)® L deesX
al | l 2
_Q,\ Q—): = ): —
3 \“\'CO 3) 3/2 5
5@
2
5 DM\%‘(O\W\
7/ \0
S
b T —
Vaviab\es

Let X = Distance fvom Bottowrof Ladder o Wal)
Y—_ Distance Lrom Top o Ladder t2 Gvownd

b= ’Am”j\f- Tovmed betweew Laddev and Guaning



Beivms'\vxﬂ Yy
Given N = =\ {'J“\sec,

e
Bnd ‘%%=? when \i—5
EQ] ahon
- S\mej%
ik Levedinte
Ao _ o
‘J_’E(S\Vlg >— A’b&% 5
B 9% =\ dy
YR T e

Dxiva Sowable Tnforwotion

\D

0’«//

18
ﬁ\g\ml»';‘: m: HS_—: F%@:S‘E

s b=1{5 A
- i

S wbshitucte KQY Mowest Twto H

s .= () %
)y,/cycy

Sowe  dp - — ' Zadiane
e YS et
éS!)SWQV‘

The avw\\e_ vetween the \adder M\A The o}\row\A

© o\ew o cide st \T:; Radians per Seond. at
ot Mowm it -
H Lek £ )= snx +cos (2%)

(0= cosx— 25w 23 G

L0
+130)= o) ey F; tE--b

Cow\wx oW
Denowin 0\‘\' v



